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Problem quickname: 8201

b

Calculate the result.

a) 639 + 30 = 669
d) 121 + 30 = 151
g) 518 + 80 = 598
i) 524 + 30 = 554

2)

Calculate the result.

a) 600 -+ 200 = 800
d) 400 + 400 = 800
g) 500 + 200 = 700
j) 600 + 300 = 900

3)

Calculate the result.

a) 733 +3 = 736
d) 343 + 2 = 345
g) 354 + 2 = 356
i) 654 + 4 = 658

4)

Calculate the result.

a) 4642 + 200 = 4842
d) 3126 + 500 = 3626
g) 4110 + 500 = 4610
j) 2435 + 500 = 2935

Good Luck!
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b) 724 + 70 = 794
e) 611 4 80 = 691
h) 327 + 60 = 387

b) 700 + 200 = 900
¢) 200 + 500 = 700
h) 700 + 100 = 800

¢) 325+ 70 = 395
f) 312 + 20 = 332
i) 811 + 30 = 841
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¢) 400 + 100 = 500
£) 300 4 200 = 500
i) 300 + 400 = 700

b) 712+ 3 = 715
e) 995 + 3 = 998
h) 51144 =515

¢) 915 + 4 = 919
f) 644 + 1 = 645
i) 853 4+ 4 = 857

b) 2168 + 700 = 2868

c) 8283 + 600 = 8883

e) 8184 + 600 = 8784 f) 9347 + 600 = 9947
1)

h) 6335 + 400 = 6735 i
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4706 4 100 = 4806
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